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Q.1: Forces in one dimension

Mark(s): 0/5

The figure shows a ball interacts with a table and with Earth. According to
Newton’s third law, which of the following is an interaction pair?

Dz ey s (b les ol (B g 0 il B g m )Y ae s A Ul pe Jelii b S Sl aa g

Learning Outcomes Covered

o PHY.6.1.02.004

a. F Earth's mass on balls F ball on Earth's mass

?Jalia

Fooi e = Vi | Foa Wi, g

b. F Earth's mass on balls F Earth's mass on table
Fooo e g Vi | Fa bl e e UK

c. F table on balls F Table on Earth's mass

Fogi e gyl | Foayias e L)
................................................................................... -
|
F ball on table» F Earth's mass on table :
Fs g e paWiais | Fall, i
1
|
1



Q.2: Displacement and forces in two dimensions Mark(s): 5/5

If the net force acting on an object is decreased, what happens to its acceleration?
¢ anall 138 &l ol Gaany 13l cann e 5 i5all 3 58l Aiana ke (al) &3 13)

A Zialy ) SiEDally g (e iy Las Cad
You may use any of the given constants and equations where needed:
g=—9.8m/s”
A, = Acos0
F,=mg
A, = Asins8
'FllrEE
as e Fir = upFn
Learning Outcomes Covered
o PHY.6.1.02.007
B e e e ey e e e -:
a.i It decreases :
1 ]
i o
1 1
1 ]
[ o o o o R R RN RN R R RN RN RN R R R RN RN RN RN RN R NN RN RN NN RN RN R NN RN NN RN RN N N N NN NN RN RN RN R NN RN NN RN RN R NN NN NN NN RN RN R NN RN RN RN RN N RN RN RN RN RN R o
b.
It increases
AR
C.
It doesn't change
JECTTRY

It might increases or decrease ) .
uoddy gl by ol oy



Q.3: Forces in one dimention Mark(s): 5/5

Which of the following is not true about weightlessness?
Cosl) el s b maa e L Las

Learning Outcomes Covered

o PHY.6.1.02.007

b.| The apparent weight equals Zero

JA‘A\L“;}LM”L“;JALH\C Al

c.. The scale reading is Zero

Siaall (gl ol )8

d.| Contact forces on the object equal Zero

sieal) (g st aveall 5 Jigall Guadtdl) 3




Q.4: Forces in two dimensions Mark(s): 5/5

The figure shows three vectors L, M and N. Which of the following is true?
AN Cilgaiall Lol dauma 4V &l jlall 61 N s M 5 L Silgaia 6 (KA a5

Learning Outcomes Covered

o PHY.6.1.02.007

a.l
: L+N=M
b. e B N
L+M=N
) - = 2
M+N=L
d. 7/ )

M+L=N



Q.5: Force and motion Mark(s): 5/5

Two dogs are pulling a sled carrying food packages. One dog pulls with a force
of 40 N and the other pulls with a force of 60N as shown in the figure. The
total mass of the sled and the packages is 50 kg. What is the acceleration the
sled?

558 Canny AV 5 (A0N) 558 cansy GalS) aal alade il e Jaad 4aY ) Glass JLIS
fAaY 3l dae & L (50kg) Dl sall g AaY 3 AST ABST JSA 8 vm e 58 LS (60N)

Learning Outcomes Covered

o PHY.6.1.02.007

al :
: 2.0 m/s? :
b.
0.5 m/s>
C.
1.2 m/s?
d.
0.4 m/s?




Q.6: Displacement and forces in two directions Mark(s): 5/5

Which of the following objects is not in equilibrium?
o3 Al A ad AN eV e

Learning Outcomes Covered

o PHY.6.1.01.015
o PHY.6.1.02.005
o PHY.6.1.02.007

A car moving in a constant acceleration

b.
A book at rest on a table

c.. A parachute falling with terminal velocity

d.| A train moving with a constant velocity




Q.7: Forces in one dimension Mark(s): 0/5

The figure shows a box at rest on a table. There are three forces acting on the box, but it is not moving. Which
one is the normal force

QL“JM\SJH\@&}Q\D&Q;\ & oat

Learning Outcomes Covered gys .

o PHY.6.1.02.007

a.
F,
b.
F;
. :
E F3 i
d.




Q.8: Force and motion Mark(s): 5/5

What is the weight of a mass15 kg box?

$15kg 43S 3 53ia ()5 9 L

A0 Aaudal ) Sty Clgl (e a3l Lag Cmid
You may use any of the given constants and equations where needed:
g=-9.8m/s*
A, = AcosB
F,=mg
A, = Asinsf
Learning Outcomes Covered
o PHY.6.1.02.007

[

1
a.;

1

: 147 N

i

1

L T T T T
b.

1.53 N
C.
0.65 N

d.

248 N



Q.9: Force and Motion Mark(s): 5/5

The figure shows two forces acting on a motorbike, 650 N Forward and 250 N
backward. What is the net force acting on the motorbike?

il Lo alall A 250N 5k N 650N ¢ 4L dal jo e ol jigs o 8 (Sl g
QZ\.JJU\ :*A\‘).ﬂ\u.k; a‘).a‘}d\ ol

650 N
Learning Outcomes Covered
o PHY.6.1.02.007
a.! 400 N forward ) i
oY A 4N
b. 400 N backward B N
Glall 40 N
c.. 900 N forward ;
LY o N

d.| 900N backward
«lall JJ9¢ N



Q.10: Fo

rce and motion Mark(s): 5/5

A net force of 30.0 N accelerates a block at 6.0 m/s% . What is the mass of the
block?

PR jlaie 52 La 6.0m/s? olaie Lo L LgpuSid ALS e 30.0N b e dliana s 8 553

A0 Aaudal ) Sty Clgl (e a3l Lag Cmid
You may use any of the given constants and equations where needed:
g=-9.8m/s*
A, = AcosB
F,=mg
A, = Asinsf
F
Learning Outcomes Covered
o PHY.6.1.02.004
o PHY.6.1.02.007
R e | 1 1 e | o 1
1 1
a.; -
1 1
: S kg :
1 1
1 1
1 1
PP TR PP TR PR T T P R P R R R T e R T T R R R T R R R R R PR R L L R R T T R R R R R R R R L T L R R L R R o
b.
0.2 kg
C.
3.0 kg
d.

180 kg



Q.11: Forces in one dimension Mark(s): 0/5

A bucket of water with weight of 50N is pulled up using a rope. The bucket is
moving at a constant velocity. what is the tension in the rope?

a8 laie o L Alide juy sl & paid dos alasiily ef ) SON 405 slad) (e sls s

el b 2l
Learning Outcomes Covered -
o PHY.6.1.02.007
a.
50N
b.
25N
i :
: 100 N :
d.




Q.12: Displacement and forces in two dimensions Mark(s): 0/5

Salem walks 60m east then he walks 80m south. What is the magnitude of his
resultant displacement?

¢ ilanall Aal Y1 e Lo U gin 80m (oiias o5 B 13 60m albos iy

A0 dall) Sl Sl a3l Laa i

You may use any of the given constants and equations where needed:

g=-—-9.8m/s*

A, = Acos8

AJ, = Asins0

Learning Outcomes Covered

o PHY.6.1.02.007

Om



Q.13: Force and motion

Which of the following is a field force?

Learning Outcomes Covered

o PHY.6.1.02.007

b.| Tension force

c.. Normal force

d. Friction force

Mark(s): 5/5

tlaa s o i Lea o

‘QJ}A}J\

SIKiaY

al)

or



Q.14: Displacement and forces in two directions Mark(s): 5/5

A block is resting on a rough surface. The coefficient of static friction between the
block and the surface is (0.2). The normal force acting on the block is (50 N). What
1s the maximum static friction force that the surface can exert on the block?

6 sy zelaall g AWK (5 Sl ASIAY) Sl jlaie (IS 138 (A mdaws e 3 e ABS
Sl MY 5 g8l adY) aadl L (SON) (5 sbost LS e 3 555al) 0 el 55800 5 ¢ (0.2)
¢ Al e mladl Ly Sig o) oS Al

A Ak SlEDkatly Culplll Che adly Las (il

You may use any of the given constants and equations where needed:

g=—98m/s?

A, = AcosB

F =mg
Learning Outcomes Covered

PHY.6.1.01.015
PHY.6.1.02.004
PHY.6.1.02.005
PHY.6.1.02.007

O O O O

a.!
: 10N
b. "\ . - "/
250 N
C. g \ .
50 N
) G

25N



Q.15: Forces and motion Mark(s): 5/5

What is the cause of all accelerations?
?&Jugiﬂjh&&._\gd\}su
Learning Outcomes Covered

o PHY.6.1.02.007

a.! Unbalanced forces i
: A giall e all
b.| Balanced forces
)l
c.. Normal force
i seddl )

d.| Friction forces
Ayl @



Q.16: Force and motion Mark(s): 5/5

A net force of 4000 N is acting on a car with a mass of 1600 kg. What is
the acceleration of the car?

bl gl Hlaie Le 1600kg WAES 3 5l Ao 4000N Lo it Abasa s ¢ fig

A0 il 1) CEaly ol (e s Las Gl

You may use any of the given constants and equations where needed:

g=—9.8m/s”

A, = Acos8
F,=mg
A, = Asins8

Focr

Learning Outcomes Covered

o PHY.6.1.02.007

6.4 m/s?

1.2 m/s?



Q.17: Displacement and forces in two dimensions

Mark(s): 0/5

Which of the following is the force exerted from one surface on another when there is

no motion between the two surfaces?

?QP.LJ\QHI\SJ;UM?&MBQ}YGL“UJ;@wﬁjﬂ\bﬂ\w@@h@

Learning Outcomes Covered

o PHY.6.1.01.015
o PHY.6.1.02.005

a. Static friction

b. Kinetic friction

d. Tension

Sl Iiny

S all ISiay



Q.18: Displacement and forces in two dimensions Mark(s): 5/5

Four forces are acting on a block as shown in the figure. What is the net force on the
block?

Qm‘&;ﬁ)ﬁﬂ\d‘jﬂ\ M@udu\éeaﬁﬁusm&sdﬁ@)iﬂjj
&

15 N

10N 10N

Learning Outcomes Covered

o PHY.6.1.01.015

a.! :
3.0 N up ; :
: = 8N
b.
8.0 N down ;
Jawd 8.y
C.
20 N right
el LUN
d.
0.0N




Q.19: Displacement and forces in two directions Mark(s): 0/5

The figure shows the free body diagram of a suitcase resting on a rough inclined
plane . There are only three forces acting on the suitcase as shown in the figure,
which one of the forces is the Friction force acting on the suitcase?

S dyiadl Sl i 038 e (s sane le AiSUa e dygind ) pusnll Tl ¢y JS20
Qé&Y\Bﬁ@&jﬂ\a&uAg\cdﬂb@ayﬁwhﬂ&ﬁ

Learning Outcomes Covered

o PHY.6.1.01.015
o PHY.6.1.02.005

a.
F>
b.
F
.| !
: Fs :
d.




Q.20: Fo

rce and motion Mark(s): 0/5

A man with weight 650 N is standing on a scale in an elevator. The elevator is
going up with a constant speed. Which of the following is a correct reading of
the scale?

8ol B A b laa gl A ey deiay adl ariae 8 0 e e a8 650N 455 da

A0 dpcaly ) Dl Sl Cha 3l Lo i

You may use any of the given constants and equations where needed:

g=—9.8m/s”
A, = Acos0
F.=mg
Learning Outcomes Covered
o PHY.6.1.02.007

a.
650 N

b.
520N

c.
730 N

d.



Q.21: Force and motion Mark(s): 5/5

The graph shows the relationship between the force (F) acting on a cart and its
acceleration (a). What is the mass of the cart (m)?

A pal) RS sk 5o Lo (@) A all g i 53 e e i Sl (F) 5l (o AN il sl
(m)

3 |

on (nﬂsz}

Learning Outcomes Covered

o PHY.6.1.02.007

a.!
E 4.0 kg
b. . B ||
0.25 kg
C. y &
8.0 kg
d. 4 4 > 2



Q.22: Forces in one dimention Mark(s): 5/5

A skydiver of weight 700 N falls with the terminal speed after opening his
parachute. What is the drag force acting on the skydiver?

f el Ao 3 jigall Zaumall 5 8l) Le alllaa i day sl Aoyl Jadisy 700N 455 Abae

Learning Outcomes Covered

o PHY.6.1.02.007

a.l :

j 700 N Up E
b.

700 N Down
C.
1400 N Up
d.
Zero




Q.23: Displacement and forces in two dimensions Mark(s): 0/5

A vector R =20 N makes angle of 60° with the negative x- axis as shown in the
figure. What 1s the component of R parallel to the x-axis ?
R4S 3o oo Lo AN 8 e 9o o8 LS Qi X ) 93e e 60° 43l ) aas R = 20 N 4aiall
¢ x sl & 3 5ol

Learning Outcomes Covered

o PHY.6.1.02.007

a.
Ry=-10 N
b. - B |
RXZIO N
. i, I - o A
Rx=-17.3 N



Q.24: Force and motion Mark(s): 5/5

Which law states that the acceleration of an object is proportional to the net force
and inversely proportional to the mass of the object being accelerated?

e BnsSe Tui iy 5 Alianall 5 g8l ae L yda Tl oy sl ¢ s ) e (i 21 (5381 0 L

Sansal) A1
Learning Outcomes Covered
o PHY.6.1.02.007
a.! Newton’s second law :
: sl
b. Newton’s first law )
Gl J¥ gl

c.. Newton’s Third law
CA gl SN oy gl

d. Law of inertia
S el ) 538



Q.25: Displacement and forces in two directions Mark(s): 0/5

Ahmed is pushing a wooden box with weight of 500 N across a wooden floor at a
constant speed. He exerts a force of 200 N on the box. What is the coefficient of
friction between the box and the floor?

Lo phaie 58 i IS 1306 A e ey i B Jf L SOON 4335 s 1 y2im de] iy

S Y 5 (5 saieall (o AKAY) Jalas g8 Lo (3 s2iall e 200N

Learning Outcomes Covered

o PHY.6.1.01.015
o PHY.6.1.02.005
o PHY.6.1.02.007

a.
0.4
b. ! i
: 25 :
C.
0.6
d.
0.1




